AW #IT R E
2 T B = it () 27 =2 CiE T | e 7%
i % I T L R s 1 2 i 5
% I B IR SRR BTN (1 LR A )
T 1 e SE = R ASf 7 2 B 28 H T
A L B OB A6 & 11 B 8 @ (4) 13 B 30 4
A KL B AT EHALE 2 BEAREE
T OE 5,390,000 1 ( {HEFL K O TEE Rl & Te )
A b X 71
B K ) PR A B 3,826,900 1 ( {HEFL K O TEE Rl & Te )
WO ¥ E MRS K T2
% FL il 3,934,700 M ( THEFL K O TEEFLE Te )
- ‘ A K & "
s AL R F (iﬁ%mwﬁmﬁﬁ%m@o i A
1 B~ ~v | s
2 s )5 —| FER
3 Ys a—RL—a M .
4 (S 3,822,000 [
5 AT _| =
6 (R K T3 3,577,000 | ¥%#L
7 IR R R 4,600,000 [
8 BRFE = —RL— a3 3,430,000 H| %H&
9 ) o/ —| BER
LLE9#F
B 4w THEIGFTND 5.0 kmPANICAMZH TH5REMXOED « T -« av7)—hTLH¥EE

Mo 9 HEETE




